K 43-01 - K 43-76
HE A AR IE S B 007 HANSAVFLEX

]

£01 KEINRE, B AT
BHEX 1 4R

#£02 KEISIRLL, B AT

BHEX 2 hEHgl

gges ATREEREE

-2 2F AE0°

HesEE FHRRE, IEHRAN RS

R 2

RERP BERE

&

K 43-01 6 - M12x1.5 - 20 27 12 38 12 14 17
K 43-04 8 M 14 x1.5 - M12x1.5 20 29 14 37 12 17 17
K 43-07 8 M 14 x1.5 - M 14 x1.5 20 29 14 37 14 19 19
K 43-08 10 M16x1.5 - M12x1.5 20 32 17 38 14 19 17
K 43-09 10 M16x1.5 - M 14 x1.5 20 32 17 38 14 19 19
K 43-17 15 M22x1.5 - M22x1.5 25 M 26 45 19 27 27
K 43-69 10 M16x1.5 - M22x1.5 25 38 23 45 19 19 27
K 43-75 12 M18x1.5 - M16x1.5 25 32 17 45 17 22 22
K 43-76 12 M18x1.5 - M22x1.5 25 32 17 45 17 22 27
2 d2=ENER - SW=XRBRE

FREH

K 430-01 - K430-72 RAXEE-REIBEEE N

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
06.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



